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1. (1) dz = (62%y — 6zy*)dx + (223 — 122%y)dy
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2v/x =2y VT —2y
(3) dz =2cos(2x + y)dz + cos(2z + y)dy
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(2) dz = dy
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(D) 3x—y—2z=1
(3) e —2y—2=3

(2) be+by+z=1

(1) z = (20%y — 3a?y*), = 2(2%)y — 3(22)'y*
= 622y — 6xy*
Zy = 223y — 312y4)y =223(y)" — 322 (y*)’
=23 — 12x2y3
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(3) zy = {cos(2z + y)}(2z + y) = 2 cos(2z + y)
2y = {co8(20 + )} (22 + y)y= cos(2 + )
dz = zpdx + z,dy ITARA LT
dz = 2cos(2z + y)dx + cos(2z + y)dy

(4) 2z, = (@ +ty)e 2
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z Py T Ry Yy

(1) zp= (2P Hay—yP)=2a+y

zy = (2 +ay—y?)y=2—2y
r=1,y=1Dr % 2z, =3 = f,(1,1)
zy=—1=f,(1,1), ¥rz=1=f(1,1)
2= f(L,1) = fe(L)(@ -1+ f,(1,1)(y — 1)
WHRALT2z-1=3(@z-1)—(y—1) &b
—3r+y+z=-1

TRbb 3zr—y—2=1

(2)

£1[@

2 = (=23 + 2%y + 3y?) o= —322 + 22y
zy = (=23 + 2%y + 3y?),= 2 + 6y
r=1Ly=-1D %z, =-5= f,(1,-1),
2y = 5= fy(1,—1), $F 2 = 1= f(1,-1)
Z*f(laf]-)

= fa:(la —1)(.’1? - 1) + fy(la _1){y - (_1)}
WARALTz—1=-5(@x—1)—-5{y—(-1)}
Ehbx+5y+z2=1
2y = (2% — y?)p= 22
zy = (2 —y?)y= ~2y
r=2y=1DC &z, =4 = f,(2,1)
zy=—2=f,(2,1), 2 2=3=f(2,1)
2= f(2,1) = fo(2,1)(z = 2) + f,(2,1)(y — 1)
WRALTz-3=4(x—-2)-2(y—1) &b
—Adrx4+2y+2z=-3
TROG 4o — 2y —2=3





